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K () Io(w) +Ko(x) L(x)s_};
1—56 T H.

Sx"]o(x)dx=x"f| @)+ =12 Ty (%)

—~ <n~1>2§xn-2]o (x)dx
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0 -1<xx0
1—59 #/ (x) ={

x

0<<x<1
W f ()= Potx) =L P +2p,

1—60 iﬂ%%ﬁffﬁﬁﬂﬁﬁ%, i

ca
_Ié_z y :f; P,(cosh), r>r,
n=0 4
oo
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%_: Z ” n+l'P"(COSﬁ)’ 7<rlr
n=g 0

& &

I—1 .1 V(A-B)=V,(A-B) +V:(A-B)

=V, (B'A)+VB(A-B)
=Bx(V,xA)+ (B-v,) A
+ A x (VexB)+(A-vy) B
=Bx (VxA) +(B-V)A
+Ax (VxB)+(A-VB
APV BB,

2) Vx(AxB=v,x (AxB)+V, x (Ax B)

=Vex (AXB)—V,x (Bx A)

=A(V;-B)- (A-Vy)B—B (V4 A)
+(B-V)A=(B-V) A— (Vv.-A) B
—(A'V) B+ (V-BA

3) V- (AxB)=V,-(Ax B) Vs (AxB)=A-(Bx V)
+A-(BX VB)

—A-(VxB)

=B-(V,xA)+A-(BxV, =B.(Vx A)
“@) B 4B=A, n)



V(A-A) =VA=24x (VxA) +2(A-W A
Bl A x (VXA)=%VA2—(A-V)A

_ 0 i} i}
1—-2 E.(HDV-Vx A= (ax’+ay’+ k)

(G555 (30 ) (2 - e )

_ 04, 4, | 84, _ 54, 7?4, 94, ~0
0%0Y 6%x0z 6Y62 8Ydx 8264 89267

(2) Vx Vw—[%(é%f)——‘l(% ]i

(50 () (2 (

(3)Vx<VxA>—[ =
+[2( aa‘i S)-2
+[Z(

0x
6‘2 ax> 6 A -

-(a%”%ﬂ%k)(%i 5

ay az2
0 | 8, &
(24 Zt )Ak] V(V-A) -V A

~55 (5w ) e
a%(g 7))

ay

)
o))
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gy dz
=(v5reogp)in(udyo28)
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e ia) e
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=uVv+ovVu

@) V. mA)= ——(qu) +—- (uA,) 1— (14A,)

ay
__ ., 04 G'M, G_AL Aau uaA‘
BT +Aax uay+”ay 8z
ou
+A,a—z

_ {04, 84, ,L 84. \ .
—u(ax o7 Yoz )+(A,:+A,1+A,,k)

. 0% . 0O
(é_x‘H'W +5?k)
=uV-A+Vu-A
=0 - (o
(3) V x (wA) = {a - (A (uA,)]1+ @A)
-0 o ..__
y” (uA,) }JJr[a (2¢4,) (uA )Jk

RN
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oz FEY
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(4) V-(AxVu =(6‘ixi+567j+aizk )

0 oy a

F] au ou 0 ou
=2 (427 -4, —( A4,
ax(A”a 63’)+6)’ ox

0 u a on _ . du
Az ) o Agi—43%)
_0u (84, 04, +Qﬁ( GA,_6A,)
dx\0Y oz oY\az g«x

du (a4, 04,

+é_<ax ay)
=Vu-Vx A

1—4 {E. (DA X B)-(CxD)=(4,B,— A.B,)C,D,—C,D,)
+(4.B,— A.B.YC.D,~C.D.)+ (4,B,~ A,B,) (C.D,—C,D,)
= (AL + 4,C,+ A.C,) (B.D,+ B,D,+ B,D,)
— (4D +A4,D,+A.D,) (B.C.+B,C, +B.D,)
=(A-C)(B-D) - (A-D)(B-C)
2) (AxB)x (CxD)=C((AxB)-: D)—-D((AxB).-C3
=ClA-(BxD))—D(A-(Bx C))

— . =0 ey O
1I-5 #.(DOV.r Y (x x){+ay(y )+
) N
gz AT =3
[0 D ,]. [_0, —
(2) Vxr [63’ (z—2") az(y ¥ i+ az(x %)

_i_/].[_a_ —_y =0 ey Tp—
ax(z 2') | f+ ix (y—1") 5y (% x)]k~0
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